MAT 1372 Fall 2013 Sample Exam #2
1. Multiply and simplify:

(a) (44/521%) - (~22V/T5a?)
(b) V7(v3z —2v14)

(c) (V2 —=3V32)(5+2v62))
(d) (6—V5)

(&) (5yy = V2)(5y/y + V2)

2. Write in simplest radical form:

5
(a) E

) 2"’{5_33

() \/g

3
(d) 24+ 7

V3 +2v5
V3 —3v5

3. Solve and check:
(a) V3z+1-7=0

(e)

(b) Va+1ll—-5=a
(¢) V> +8p—11=3p—2
(d) x =3V —5=5

4. Simplify

(a) v/—98



5. Peform the operation indicated then write in a + bz form:

(a) (—4+5i) — (2 — 30)

Gﬁ(§+&)+(§—%0
(¢) (=3 +23)(2 — 5i)

(d) (2+7i)(2 — Ti)

6. Solve by factoring:

(a) 2> —4z =5

(b) 222 — 11z —21 =0

7. Solve by using the square root property:

(a) 42? =20

(b) (x—3)2—25=0

8. Solve by completing the square:

(a) 2> —8x+13=0

(b) 22% = 62 + 10
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9. Solve by using the quadratic formula:

(a) 222 —6z+3=0

(b) bx(z—1)=z—-5
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